
（令 4 前）	 外　　国　　語

英　 　語

（問題部分 1～ 12ページ）

注意　解答はすべて答案用紙の指定のところに記入しなさい。

外国語（英　語）　125点
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次の文章は環境問題について書かれたものである。この文章を読んで，問 1～ 6に

答えなさい。（配点 35点） 

Ⅰ
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著作権保護の観点から，

間題は掲載していません。
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注 nocturnal　夜間の，夜行性の；　　dung beetles　フンコロガシ

clownfish　クマノミ；　　sand hopper　ハマトビムシ

crustacean　甲殻類；　　algae　藻類

amphibians　両生類
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著作権保護の観点から，

間題は掲載していません。
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問 1　下線部⑴について，人間以外の生物への影響として本文の内容に合致しないも

のを選択肢の中から一つ選び，記号で答えなさい。

あ　Bats fail to evade predators effectively when eating moths.

い　Clownfish experience problems breeding at night.

う　Dung beetles get confused and don’t know where to go.

え　Fish face a greater risk to be eaten by other fish that prey on them.

問 2　下線部⑵の内容と合致するものを選択肢の中から全て選び，記号で答えなさい。

あ　It has been researched by scientists using sand hoppers and LED lights.

い　It is detectable only from far out in the sea.

う　It is noticeable from the city shining above the distant countryside.

え　It is produced by the scattering of artificial light at night.

問 3　空所（　Ａ　）と（　Ｂ　）に入る最も適切な語句の組み合わせを選択肢の中から

一つ選び，記号で答えなさい。

あ　（　Ａ　）　attractive  （　Ｂ　）　insensitive

い　（　Ａ　）　insignificant （　Ｂ　）　resistant

う　（　Ａ　）　invisible  （　Ｂ　）　attracted

え　（　Ａ　）　negligible  （　Ｂ　）　sensitive

問 4　下線部⑶を，They が指している内容を明らかにしたうえで日本語に訳しなさい。

問 5　下線部⑷を日本語に訳しなさい。
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問 6　本文の内容と合致する文を選択肢の中から二つ選び，記号で答えなさい。

あ　A third of the people in the world can’t see the Milky Way due to the 

interference of artificial light.

い　Over time, sea animals eventually get used to artificial light.

う　Researchers have shown that artificial light across the world has increased.

え　Sand hoppers became more cautious under artificial skyglow compared to 

natural moonlight.

お　Sand hoppers eat stranded fish, contributing to nutrient cycles in marine 

ecosystems.

か　Skyglow can shine even brighter than direct light on beaches to the point that 

marine and coastal creatures are severely affected by the light.

2022-中谷-外国語（前期）-問題.indd   4 2021/12/13   10:58:55



― ―5

次の文章は言語と社会について書かれたものである。この文章を読んで，問 1～ 6

に答えなさい。（配点 35点）

Ⅱ
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著作権保護の観点から，

間題は掲載していません。
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注 aviation　航空産業

問 １　下線部⑴の答えとして本文の内容に合致しないものを選択肢の中から一つ選び，

記号で答えなさい。

あ　Communities did not share a common language.

い　Empires were often conquered by other empires.

う　Religious leaders insisted on using their own language.

え　Trade partners needed to communicate in emerging markets.
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著作権保護の観点から，

間題は掲載していません。
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問 ２　下線部⑵を日本語に訳しなさい。

問 3　二箇所の空所（　Ａ　）に入る最も適切なものを選択肢の中から一つ選び，記号

で答えなさい。両方ともに同じものが入る。

あ　imperialists

い　interpreters

う　invaders

え　inventors

問 4　下線部⑶の Latin はなぜ西ヨーロッパで使われなくなったのか。その理由とし

て最も適切なものを選択肢の中から一つ選び，記号で答えなさい。

あ　As a result of the Germanic conquests, people came to speak German instead.

い　Latin-speaking communities lost contact because they separated into their own 

regions.

う　Roman Empire soldiers did not enforce the use of Latin, so people spoke their 

local dialects.

え　The Roman Empire wanted to encourage more cultural diversity in the region.

問 5　下線部⑷を本文の内容に即して，70字以内の日本語で説明しなさい。ただし，

句読点も 1字に数える。

問 6　空所（　Ｂ　）と（　Ｃ　）に入る最も適切な語句の組み合わせを選択肢の中から

一つ選び，記号で答えなさい。

あ　（　Ｂ　）　cooperative imagination  （　Ｃ　）　mutual good will 

い　（　Ｂ　）　environmental management （　Ｃ　）　sustainable development

う　（　Ｂ　）　group identity   （　Ｃ　）　older generations

え　（　Ｂ　）　hierarchical authority   （　Ｃ　）　ethnic unity
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次の文章を読んで，問 1～ 3に答えなさい。（配点 30点）Ⅲ
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著作権保護の観点から，

間題は掲載していません。
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著作権保護の観点から，

間題は掲載していません。
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問 1　下線部⑴～⑷について，本文中の意味に最も近いものを選択肢の中からそれぞ

れ一つ選び，記号で答えなさい。

⑴ Is something up?

あ　Are you going somewhere?

い　Are you okay?

う　Are you still up?

え　Did something drop and hit you?

お　Did you hear that sound?

⑵ a long shot

あ　a missed opportunity

い　an honest statement

う　an impossible task

え　a slow progress towards a goal

お　a small chance of success

⑶ look up to

あ　confuse

い　follow

う　observe

え　respect

お　trust

⑷ out of my mind

あ　childish

い　depressed

う　foolish

え　surprised

お　unfocused
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問 2　空所（　Ａ　）～（　Ｅ　）のそれぞれに入る最も適切なものを，選択肢の中から

一つ選び，記号で答えなさい。ただし，同じ記号は一度しか使えない。

あ　He’s right

い　I don’t know why you are saying this

う　I mean, congratulations

え　I’m sorry I didn’t tell you

お　You know that

問 3　下線部⑸を日本語に訳しなさい。
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Read the following passage and answer the questions in English.  （配点 25点）

⑴ Based on this passage, what does “level playing field” mean?  Write around 40

words.

⑵ What do you think about school uniforms?  Are you for or against them?  Explain

your opinion with reasons based on your personal experience, using around 70

words.

Ⅳ
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著作権保護の観点から，

間題は掲載していません。



（令 4 前） 

問 題 訂 正

外国語（英語）

訂正箇所 6 ページ 本文 第２段落 6 行目 

誤 Roman empire 

正 Roman Empire 
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